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Answer all questions in the spaces provided

2 not write
outside the
box

1 Circle the lowest of these temperatures.
—4.9°C 0°C -7°C
2 Circle the expression that is four times bigger than ».

B

nt4d

3 Circle the fraction greater than 1_36

N B
f’/ 11 15

L

[1 mark]
0.1°C
[1 mark]
4
143
[1 mark]
29
100
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3 Do not write
outside the
— - o - box
4 Circle the value of 2°
[1 mark]
10 25 @
5(a) Simplify axaxa+b+bh
[2 marks] |
3
A+ 24
3
Answer &, + 2»‘@ |
5 (b) Simplify 5x+3)—x+2
[3 marks]
o~ : ‘ — ) = \ z—
LA T Y (— X T+
B I Y
Answer L‘\‘l + I 7 —
Turn over for the next question
|
9
Turn over »
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6 Twelve cards numbered 1 to 12 are put into six pairs.

Each pair has a total.

Complete the table to show the pairs and their totals.

0 4

4

Cards Total
1and 2 3
_\__%__ and ___Q_ 9
4 and 7 11
~
(3 and q 14
8 and H 19
lQ and \l 22

o not write

outside the

[4 marks]
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5 Do not write
outside the
box

7 Here is a number machine.

Input Output
COA =GO

7(a) Work out the output when the input is 4

[1 mark]
) 43 -7 |
S  J2-2 =10 -
Answer - ] O S
7 (b) Work out the output when the input is -4
[1 mark]

—U x 3 —2Z

|
]
|\.)
\
o
f
\
c

Answer —_-, Ll/ii

Turn over for the next question

Turn over »

b

1B/M/Jun17/8300/3F



6 2 not write
outside the
box

8 Here is information about the goals scored in some hockey games.

Each game has four quarters.

Goals in hockey games ‘

Number
of goals

O =2 N W H O O N 0 ©
| L 1 i
|

1st 2nd 3rd 4th

Quarter
Key: [ Home goals [ ] Away goals

8 (a) Which quarter was the mode for away goals? VV\O SC POPV\ \C\ f

Circle your answer.

[1 mark]
1st 2nd 3rd 4th
8 (b) There were 10 games. ‘
Work out the mean number of goals per game. |

[2 marks]
(Lpg(;w F8+81 714 ﬁ)%io
47 =10 |

Answer Ll" A 7 o ‘

-
L
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7 Do not write
outside the
box

8 (c) In total, how many more home goals were scored than away goals? \
[2 marks]

Lyl +8+9 = 25
Lty +T+5 =212

25-20=3 |
| : —_—

Answer “5

8 (d) Rob says,
“More home teams must have won because there were more home goals.”

Is he correct?
Give a reason for your answer.

“No

One of mo home +eam & Mgt hae,

Won. @ oave of opnes by o lofs d (;;}omlf;,.
.\J \w_j {-._.--' | S |

[1 mark]

| 6

Turn over »

L
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8 ) not write
outside the
box

9 (a) List all the factors of 30

[2 marks]
el
x30 , ZxIS  3x10, Sxk B
— .
Answer ‘(24,2) 6 (f] lo \5 50
J =77 ) J /
9 (b) A factor of 30 is chosen at random.
What is the probability that it is a 2-digit number?
[1 mark]

& fudo 3

Answer

3
=

0 8
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9 Do not write
outside the
box

10 Each shape below has an area of 24 cm?

Complete the missing lengths.
[3 marks]

x 7=24

! 7= 24
Rectangle cm 9 ".A,’./

6 cm

Not drawn
accurately

Triangle

Tyll =24

I

-

Turn over for the next question

Turn over »

09
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10 3 not write

outside the
box
11 A television channel shows 12 minutes of adverts in each half hour.
How many minutes of adverts does it show from 5 am to 11 pm?
[3 marks]
~ .
?L 2300 25-L I8 hgnG
—_— \
I 18 hon® Ahene (0L 36 half how.
b x1) =432 S
Answer L“' 5 2— minutes
12 Put these probabilities in order, starting with the least likely.
44% 1 0.404 4
_ a 4__ 0 . v 10
W /s 205/, o 4/, 4o/, [2 marks]

Answer Z{- : é{; , (’)[{‘OL}L , LH?L_/LO |

L
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11 Do not write
outside the
box

13 A circle is drawn on a centimetre grid.

13 (a) Draw a fangent to the circle.

[1 mark]
13 (b) Grace works out that the area of the circle is more than 9 cm?
Why must this be wrong?
[1 mark]
We@ fea oJh )rw; SOMATE @& ound
, Ax3 Cm_,___’)l\é SQUINT

{5 d@)_ug@_[\ ‘C\/\m\ ’\/\/\Q_ arle 0 1} muck
o Winong.

Turn over for the next question

Turn over »

11
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2 hot write
1 2 uutside the
box
|

14 (a) The front elevation, side elevation and pian of a solid are all the same, as shown.

Write down the name of the solid.
[1 mark]

Answer _C,Lb-‘&, : - —

14 (b) The front elevation, side elevation and plan of a solid are all the same, as shown.

Write down the name of the solid.
[1 mark]

Answer i@/\ 6 r@/_

12
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15

13

13

Show that there are exactly five 3-digit cube numbers.

A%
SERVAI™
10 =33
83: 5) 2
T=729

[3 marks]

CAND L4°=b4 1071000
SO Qv’\\,j 2 f)ckrgﬂ Cuhe. Nued

Turn over for the next question

Turn over b
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“ ' not write
14 utside the
box

16 Triangles ABC and DEF are similar.
Not drawn
D accurately
XL
A
9cm
xcm
& Y
B 3cm C E 6 cm F
\_’//7
16 (a) Work out the value of x.
*L [2 marks]

A x)=9
1 =Y ]

Answer ur ¢ S '

16 (b) Write down the size of angle y.

Argles a0 Same A SUNAC S e

—— O

2
Answer b u&) degrees

L
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Do not write
1 5 outside the
box

17 CD and PQ are lines of length 12 cm |
17(@) CE:CD=1:2 M - CD (\/\/\/\S\"l’)@ dGV\‘OlQ
Mark point £ on the line with a cross. C E
[1 mark]
. . N .
D
¢ E
17(6) PR:RQ=1:3 +2-¢  12-4=3
Mark point R on the line with a cross. 2) ¢ q (1 mark]
NS

T A ] T | T 1

p’j@ : Q

Turn over for the next question

Turn over b

15
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1 not write
1 6 utside the
0X

18 A shop sells two brands of battery.

<
Brand A Brand B
Pack of 8 Pack of 6
Price £3.60 Price £2.94

One brand A battery powers a toy for 5 hours.

One brand B battery powers the same toy for 5% hours.

Which brand is better value?

You must show your working.
[5 marks]

4 Band A SxShows =40 hone
$2:60=40 howd
#1:= Lo < 340
El= |l hows

Bround B bx 53 = 22 hou

129 = 32 noug
L= 2320.9¢ £k
21z 1122 hods

Answer m& (i fj }-S \OQJC\‘Q( \/O\ M

L
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17 Do not write
outside the
box

19 The value of x canbe 2 or 5

The value of y can be 3 or 12

19 (a) List the possible values of  xy
[2 marks]

3= 1x12:24  5x3=15  Cxl2=z60

Answer CO} lg-/_zkfv b@

19(b)  Work out the least possible value of *—2

You must show your working.
[2 marks]

Answer B b

Turn over for the next question

Turn over »

17
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20

An exam has two papers.
Anil scores
33 out of 60 on paper 1

and

18

75 out of 100 on paper 2

Work out his percentage score for the exam.

334715 =103
L0410 = 160 _

not write
uutside the
box

[3 marks]

[OS = @"(ijf ~

160

C0LISKICY = 65/

L

Answer é 7" g @( (O E?

1B/M/Jun17/8300/3F



Do not write
1 9 ouiside the
box

21 Purple paint is made by mixing red paint and blue paint in the ratio 5 : 2
Yan has 30 litres of red paint and 9 litres of blue paint.

What is th'%maximum amount of purple paint he can make?
& [3 marks]

\07/5 Ly o
30:0" % cant do 12 Wby 01 blus

r~

oY 7
O

Y ((; -
) - 6_5

. 922:.5 4+ 9=
Answer BJ‘; < litres

[4
(4

Y« Lo ¥

Turn over for the next question

Turn over »

L
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not write
20 outside the
box

22 This shape is made from two triangles and four congruent parallelograms.

Not drawn
accurately

For each statement, tick the correct box.

22 (a) The triangles are equilateral.

[1 mark]
Must be true
\/ Could be true
' Must be false
22 (b) The triangles are congruent.
[1 mark]

I \/ Must be true

Could be true

Must be false

T

1B/M/Jun17/8300/3F



21

23 (a) The length of a pipe is 6 metres to the nearest metre.

Complete the error interval for the length of the pipe.

i

Answer 5\' 5_ m < length < (Dib

23 (b) The length of a different pipe is 4 metres to the nearest metre.
Olly says,

“The total length of the two pipes is 11 metres to the nearest metre.”

Give an example to show that he could be correct.

3S <L <S
6-S H4.S =] -
He conld Lo cofrect

Turn over for the next question

2 1

Do not write
outside the
box

[2 marks]

[2 marks]

Turn over »
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) not write
22 outside the
box

24 AB, CD and EF are straight lines.

Not drawn
accurately
24 (a) Ava assumes that AB and CD are parallel.
What answer should she get for the size of angle y?
[4 marks]
2 -20= 7%+ 10 )
—L% -1
L ~-20=10 =50
3 -20 )
- o
90-10 =70 \30~70 =110
2 1 @
Answer \ l(,_ - B degrees

2 2
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Do not write
2 3 outside the
box

24 (b) In fact,
AB and CD are not parallel
angle w is 60°

What effect does this have on the size of angle y?

Tick a box.
: y is bigger
TR
! y is the same
|
|
| y is smaller
\

Show working to support your answer.
[3 marks]

N0 L 4lo = 60 LL=30 o
=2 _
Ax-10 = 27 -720 = 75-20 =S5

Turn over for the next question

Turn over »

L
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2 not write
24 outside the
box

25 There are 720 boys and 700 girls in a school.

The probability that a boy chosen at random studies French is %

The probability that a girl chosen at random studies French is %

25 (a) Work out the number of students in the school who study French.

[3 marks]
Qé'x"7l® = ly0 \o()_\@ L N

9ex100 = 420 G5 -
__0gD-Shu denfe B

Answer q OT) -

25 (b) Work out the probability that a student chosen at random from the whole school

does not study French.

[2 marks]

U220 in achaol
wo — 900 T 5720

Answer 62 C - 2&3 -
——i —
u2ro |

2 4
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25 - diffent SIgns s

26 Circle the expression equivalent to x2 —4x-12
[1 mark]
L = T
(x — 435 8) (x+3)(x-4) (x—12)(x+ 1) (x+2)x-6) /
_ 5 = - éx
20 ;\;)L =X JL‘E i 7L~ /
27 How are the whole number solutions to A and B different?
A Solve 3<3x< 18
B Solve 3<3xg18
[2 marks]
(h) 3wl o [sx<k
1) .
N
,1,%¢, 8 .
B) 343 = lexsb
_ 2, 3,4, 5,6
~ f - a e B 3
AP l)’LJS/q,,g Bis 2/5/ Q»/BQ

END OF QUESTIONS

2 5
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> not write
26 vutside the
box

There are no questions printed on this page

DO NOT WRITE ON THIS PAGE
ANSWER IN THE SPACES PROVIDED

2 6
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2 7 Do not write
outside the
box

There are no questions printed on this page

DO NOT WRITE 'ON THIS PAGE
ANSWER IN THE SPACES PROVIDED

AT
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There are no questions printed on this page

DO NOT WRITE ON THIS PAGE
ANSWER IN THE SPACES PROVIDED
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